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I I
A ball of mass m is attached to a

(massless) string of length L and is
undergoing circular motion in the
horizontal plane clockwise.
ln the figure below draw and label
the following vectors on point p

1. Velocity.

2. Centripetal acceleration.

3. Centripetal Force.

4. Tangential acceleration.

5. Radial acceleration
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Question 
I

) ) | ,'ua
Assume that the Jupiter is a solid

sphere of constant density, with mass

1.898 x1027 kg and radius 69,911 km.
What is the moment of inertia of
Jupiter with respect to rotation about
its axis, and what is the kinetic energy
of this rotation? {Sns Jupiter day= 1g

earth houri
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3 3
at the end of a string is

revolving uniformly in a horizontal
circle of radius 0.60 m. The ball makes
2.0 revolutions in a second. Calculate

A 150-9 ball

the cen lforce.

q"Sa dup ana-nio;t.: d etrtt" Jfu+
.1*itrJld 0"p.2.0 Er(Jtei.:s (0.60 m)

.;rj5ll oqiJl (*>l

{t{a Myv t#15 DJ+r t5o-s .19$

4 4
e angle for a rough road which

has a curve of radius 50 m designed for
a maximum speed of t4 m/s.

Find th .*r:.r4 LlJt q_ltj.+
q, 0..-I d-o';* ir*Ql p'a*_, 50 m
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***** BONII$ *****

5 5 d!i*lt
A potter is shaping a bowl on a potter's
wheel rotating at constant angular
velocity of 1.6 revfs. The friction force
between her hands and the clay is 1.7 N
total. lf the moment of inertia of the
wheel and the bowl is 0.15 kg.m2, and
the only torque acting on it is due to the
potter's hands, find the followino,b.

Jtb! Je 'ts9 Ll.-S&r., ,JjiJl it, ef"*
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tre 0613! . (1.7 N) iflhJlj #l .x+
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(a)The torque on the wheel if the diameter of the bowl is 0.10 m
.(0.10m) eb3Jl-rhs OEtSl6 '-!j,*JlJtbl"lr Olr*lt il, (r)

(b) How long it would take for the potter's wheet to stop.
.e!j*.JtJtL,l ,.n g.l 6Jfi*,.AJl,;^irt (b)
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6
icycle slows down uniformty from

vo = 8.4A m/s to rest, over 115m. Each
wheel has a radius of 0.34m. calculate
the following:

Ab ir. c4U J uoq 4a!.rr

Ol J+ tAt^i Lriagri vo = 8.40 m/s
jle! dd OSli! .(115m) aeL*" CL,aj
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(a) The angular velocity for one of the wheels at the initiat instant.
.45r=1J Lol.r:l!t a-E-atJt .g r:!U)f .r.>, qjlJl aso.Jf (a)

(b) The number of revolutions each wheel in the last 115 m before it stops.
. (115 m)s-aell 4!L* D{;;IU1'[Lo_u.r; lgjJt ole,rJt.r"rs (b)

(c) The angular acceleration for one of the wheels.
.crltbll _r-it 1,egtt al+*tt (c)
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